2008-2009 7TH GRADE CONTEST SOLUTIONS

Answers

29.

1012 = 212x 512 = (2X2X2X2X2X2X2X2X2X2X 2X 2)X
(5x5x5x5x5%5x5x5x5%5%5x5), the product of 24 primes.

A) 20 B) 24 C) 48 D) 50

29.
B

30.

Al rode 48 km in 1.5 hrs. His rate
was 48 km + 1.5 hrs. = 32 km/hr.

A) 8km/hr  B) 16 km/hr
C) 2km/hr D) 64 km/hr

31

This can be achieved with any odd
multiple of 3. Here; 99 = 31 +33+35.

A) 100 B) 9
C) 98 D) 97

32.

20% of 05% = 02x0.5% = 0.10% = 0.1%. .
A)01% B)1% C)10% D)10 =emad s

30.

31

32.

33.

2°3 272 4’ 378 4°
3
4

A) 2 B) 2 Q)

33.

The even #s are 2 times any of 1, 3, 5, 7, 3X5, 3X7, 5X7, or 3X5%7.
A) 1 B) 6 C) 7 D) 8

35.

If I earn $100, you earn $0.50. I earn 200 times = 200<100% as much.
A) 2 B) 200 C) 2000 D) 20000

35.

36.

imoli 14253 9B » 99 .
Simplify to get 5 X §X 7 X...X g5 X T55- A lot cancels!

A =5 B) % 0 = D) 2%

37.

(Al's age):(Ed’s age) = 3:5 = 6:10 = 915 = ... = 2745 = . ...
A) 62 B) 72 C) 82 D) 92

38.

93 = 3x3x3x3x3x3 = 272 Side-lengths could be 27 and area 272,
A7 B8 9 DI1°

39.

If 15 do both, 5 only sing, 5 only dance, &
and 50—15—-5—5 = 25 do neither.

A)5 B10 15 D)25

They danced for 20 minutes on day 1 and
(20+91) minutes on day 92 (91 days after
day 1). The average is (20+111)-+2 minutes
per day. They danced for 92 days X

65.5 minutes per day = 6026 minutes.

A)1820 B)5106 C)6026 D) 6072

The end of the contest &9
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